DIvISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH A REMAINDER Name:
Time: Score: J_
361 15453 + 6 = 376) 3494 + 3 =
362) 32503 + 10 = 1) 42581 + 7 =
363 11277 + 10 = 37) 61179 =9 =
360 32069 = 6 = 379) 873 + 10 =
365) 8177 =7 = 380) 44098 = 6 =
366) 14288 =6 = s81) 14063 = 4 =
367) 23287 + 5 = 32) 0839 + 7 =
368) 15440 + 8 = 383) 17745 +6 =
309 16782 +4 = 33 H8192 + 9 =
3700 19492 - 8 = 385) H9979 = 7 =
57 11619 + 6 = 386) 14624 =4 =
3712) 35463 + 9 = 7). 42395 =7 =
373) 5921 +1 = ) 7926 -1 =
1) 12505 + 2 = 30) 21348 =5 =
379) 37941 + 4 = 200) 17212 +2 =
Mathematies: Division - Level § - Horigontal - Set 3 14 uluy
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